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1. Answer any eight from the following questions. 1×8 = 8

Ó¬˘1 õ∂ùü¸˜”˝√√1 ø˚Àfl¡±ÀÚ± ’±Í¬È¬±1 Î¬◊M√√1 ø˘‡fl¡º
(a) Write the only even prime number.

¤fl¡˜±S Œ˜Ãø˘fl¡ ˚≈¢¨ ¸—‡…±ÀÈ¬± ø˘‡fl¡º

(b) Convert 1.4 into 
q

p
form.

1.4 ¸—‡…±ÀÈ¬± 
q

p
’±fl¡±1Ó¬ õ∂fl¡±˙ fl¡1fl¡º

(c) What is the probability of an impossible event?

¤È¬± ’¸yª ‚È¬Ú±1 ¸y±øªÓ¬± øfl¡˜±Ú∑
(d) If l be the length, b be the breadth and h be the height of a cuboid. What is the total

surface area?

¤È¬± ’±˚˛Ó¬1 √œ‚, õ∂¶ö ’±1n∏ Î¬◊2‰¬Ó¬± SêÀ˜ l, b ’±1n∏ h ˝√√íÀ˘, ’±˚˛Ó¬ÀÈ¬±1 ˜≈Í¬ ¬Û‘á¬fl¡±ø˘ øfl¡˜±Ú∑
(e) The average weight of 12 students is 21 kg. Find the total weight.

12 Ê√Ú Â√±S1 ·Î¬ˇ ›Ê√Ú 21 kg. ˝√√íÀ˘ ø¸˝√√“Ó¬1 ˜≈Í¬ ›Ê√Ú øfl¡˜±Ú ˝√√í¬ı∑
(f) What is the probability of getting a tail in tossing a coin.

¤È¬± ˜”^± √ø˘˚˛±À˘ ŒÈ¬˝◊√√˘ Œ¬Û±ª±1 ¸y±øªÓ¬± øfl¡˜±Ú∑
(g) Which of the following is not a quadratic equation?

Ó¬˘Ó¬ ø√˚˛±À¬ı±11 Œfl¡±ÚÀÈ¬± ø¡Z‚±Ó¬ ¸˜œfl¡1Ì Ú˝√√√˚˛º
(i) x2 – 4 = 0 (ii) (x+5) (x+4) = 0

(iii) x2 – 3x + 2 = 0 (iv) x + 2 = 0

(h) The number 29 is

29 ¸—‡…±ÀÈ¬± ñ
(i) An even number (ii) Divisible by 9

¤È¬± ˚≈¢¨ ¸—‡…± 9 Œ1 ø¬ıˆ¬±Ê√…
(iii) A prime number (iv) none of these

¤È¬± Œ˜Ãø˘fl¡¸—‡…± ˝◊√√˚˛±1 ¤È¬±› Ú˝√√˚˛
(i) Find 4% of 625.

625 1 4% øfl¡˜±Ú∑
(j) Find the mode of 14, 25, 14, 28, 18, 17, 18, 14, 23, 22, 14, 18,

14, 25, 14, 28, 17, 18, 14, 23, 22, 14, 18 1 ˜±øÒ…fl¡œ øfl¡˜±Ú∑



2. Answer any eight from the following questions. 2×8 = 16

Ó¬˘1 õ∂ùü¸˜”˝√√1 ø˚Àfl¡±ÀÚ± ’±Í¬È¬±1 Î¬◊M√√1 ø˘‡fl¡º
(a) Check whether the number 2, 59, 413 is divisible by 9.

2, 59, 413 ¸—‡…±ÀÈ¬± 9 Œ1 ø¬ıˆ¬±Ê√… ˝√√˚˛ÀÚ Ú˝√√˚˛ ¬Û1œé¬± fl¡1fl¡º
(b) Convert 1101101

2
 into decimal system.

1101101
2
 ∆¡ZÓ¬ ¬ÛXøÓ¬1 ¬Û1± √˙ø˜fl¡Õ˘ øÚ˚˛fl¡º

(c) Fund five rational numbers between 1 and 
2

1

1 ’±1n∏ 
2

1
1 ˜±Ê√1 ¬Û“±‰¬È¬± ¬Ûø1À˜˚˛ ¸—‡…± ø˘‡fl¡º

(d) Find the H. C. F of 624 and 780.

624 ’±1n∏ 780 1 ·– ¸±– &– øÚÌ«˚˛ fl¡1fl¡º
(e) Find the cube roots of 250047.

250047 1 ‚Ú˜”˘ øÚÌ«˚˛ fl¡1fl¡º
(f) Add :

Œ˚±·Ù¬˘ øÚÌ«˚˛ fl¡1fl¡ –
2a + 6b – 9; 4a – 5b; 3a + 2b; 7a – 2b

(g) Solve -

¸˜±Ò±Ú fl¡1fl¡ ñ

15
7

2

6
=+

xx

(h) The sum of three conecutive integers is 24. Find the integers.

øÓ¬øÚÈ¬± Sêø˜fl¡ ’‡G ¸—‡…±1 Œ˚±·Ù¬˘ 24. ¸—‡…±Àfl¡˝◊√√È¬± øÚÌ«˚˛ fl¡1fl¡º

(i) Calculate the simple interest on Rs. 8000 at 10% per annum for 4
2

1
 years.

8000 È¬fl¡±1 10% ˝√√±À1 4
2

1
 ¬ıÂ√11 ¸1˘ ¸≈Ó¬ øÚÌ«˚˛ fl¡1fl¡º

(j) If C. P = Rs. 540, Loss = 8% ,    find S. P.

˚ø√ C. P = 540 È¬fl¡±, Œ˘±fl¡‰¬±Ú = 8%      S. P øfl¡˜±Ú∑



3. Answer any five of the following. 4×5 = 20

Ó¬˘1 õ∂ùü¸˜”˝√√1 ø˚Àfl¡±ÀÚ± ¬Û“±‰¬È¬±1 Î¬◊M√√1 fl¡1fl¡º
(a) Three chairs and two tables costs Rs. 1850. Five chairs and three tables costs Rs. 2850.

Find the cost of two chairs and two tables.

øÓ¬øÚ‡Ú ‰¬fl¡œ ’±1n∏ ≈√‡Ú Œ˜Ê√1 √±˜ 1850 È¬fl¡±º ¬Û“±‰¬‡Ú ‰¬fl¡œ ’±1n∏ øÓ¬øÚ‡Ú Œ˜Ê√1 √±˜ 2850 È¬fl¡±º ≈√‡Ú
‰¬fl¡œ ’±1n∏ ≈√‡Ú Œ˜Ê√1 √±˜ øfl¡˜±Ú∑

(b) Out of my salary of Rs. 8000, I spent 20% on rent, 40% on food and 10% on others.

Find the amount I save.

8000 È¬fl¡± √1˜˝√√±1 20% ˜˝◊√√ ‚1 ˆ¬±Î¬ˇ±Ó¬, 40% ‡±√…Ó¬ ’±1n∏ 10% ’Ú…±Ú…Ó¬ ‡1‰¬ fl¡À1±º ˜˝◊√√ √1˜˝√√±1
øfl¡˜±Ú È¬fl¡± 1±ø˝√√ fl¡À1± Î¬◊ø˘˚˛±›fl¡º

(c) A sum of Rs. 16,000 is borrowed at compound interest at the rate of 4% per annum.

What is the amount to be paid after 2 years?

4% ‰¬Sê¬ı‘øX ˝√√±1Ó¬ 16,000 È¬fl¡±1 2 ¬ıÂ√11 ¸¬ı‘øX˜”˘ øfl¡˜±Ú∑
(d) A and B working together can do a piece of work in 6 days. B alone can do it in 8 days.

In how many days A alone could finish?

A ’±1n∏ B À˚˛ ø˜ø˘ ¤È¬± fl¡±˜ 6 ø√ÚÓ¬ fl¡À1º BŒ˚˛ ’fl¡À˘ fl¡±˜ÀÈ¬± 8 ø√ÚÓ¬ fl¡ø1¬ı¬ Û±À1º A À˚˛ ’fl¡À˘
øfl¡˜±Ú ø√ÚÓ¬ fl¡±˜ÀÈ¬± fl¡ø1¬ı ¬Û±ø1¬ı∑

(e) The average of 11 results is 50. If the average of first six results is 49 and that of last six

is 52, find the sixth result.

11 È¬± Ù¬˘±Ù¬˘1 ·Î¬ˇ˜±Ú 50º ˚ø√ õ∂Ô˜ Â√È¬± Ù¬˘±Ù¬˘1 ·Î¬ˇ˜±Ú 49 ’±1n∏ ø¬ÛÂ√1 Â√È¬±1 ·Î¬ˇ˜±Ú 52 ˝√√˚˛º
ŒÓ¬ÀôL 6 Ú•§1 Ù¬˘±Ù¬˘ÀÈ¬±1 ˜±Ú øÚÌ«˚˛ fl¡1fl¡º

(f) The height of a cone is 16 cm and the radius of its base is 12 cm. Find the curved

surface area of the cone. (use π =3.14)

¤È¬± ˙—fl≈¡1 Î¬◊2‰¬Ó¬± 16 ŒÂ√. ø˜. ’±1n∏ ˆ¬”ø˜1 ¬ı…±¸±X« 12 ŒÂ√. ø˜. ˝√íÀ˘ ˝◊√√˚˛±1 ¬ıSêœ˚˛ ¬Û‘á¬1 fl¡±ø˘ øfl¡˜±Ú∑ ( π
=3.14)

(g) Is 68600 a perfect cube? If not find the smallest number by which 68600 nust be multiplied

to get a perfect cube?

68600 ¸—‡…±ÀÈ¬± ¬Û”Ì« ‚Ú ¸—‡…± ˝√√˚˛ÀÚ∑ ˚ø√ Ú˝√√˚˛ ŒÓ¬ÀôL Œfl¡±ÚÀÈ¬± ˘ø‚á¬ ¸—‡…±À1 68600 ¸—‡…±ÀÈ¬±fl¡
¬Û”1Ì fl¡ø1À˘ ˆ¬±·Ù¬˘ÀÈ¬± ¤È¬± ¬Û”Ì« ‚Ú ¸—‡…± ˝√√˚˛∑



4. Answer any two from the following questions 8×2 = 16

Ó¬˘1 õ∂ùü¸˜”˝√√1 ø˚Àfl¡±ÀÚ± ≈√È¬±1 Î¬◊M√√1 ø˘‡fl¡
(a) The area of a square garden is 900m2. There is a path 2.5 m wide running all around

inside it. Find the cost of levelling the path at Rs. 3 per square metre.

¬ı·«±fl‘¡øÓ¬1 ¬ı±ø·‰¬± ¤‡Ú1 fl¡±ø˘ 900m2 ’±1n∏ ˝◊√√˚˛±1 øˆ¬Ó¬1 ¸œ˜±ÀÈ¬± 2.5m ¬ı˝√√˘ 1±ô¶±˝◊√√ ’±&ø1 ’±ÀÂ√º
1±ô¶±ÀÈ¬± ˆ¬±˘ fl¡ø1¬ıÕ˘ õ∂øÓ¬ ¬ı·« ø˜È¬±1Ó¬ 3 È¬fl¡±Õfl¡ øfl¡˜±Ú È¬fl¡±1 õ∂À˚˛±Ê√Ú ˝√√í¬ı∑

(b) The following table shows the gain in weight by 25 children in a year -

Ó¬˘Ó¬ ø√˚˛± Ó¬±ø˘fl¡±‡ÚÓ¬ 25 Ê√Ú ˘í1±-ŒÂ√±ª±˘œ1 ›Ê√Ú1 ¤È¬± ¬ıÂ√11 ø˝√√‰¬±¬Û ø√˚˛± ∆˝√√ÀÂ√ -
Gain in wt. 2 2.5 3 3.5 4 4.5 5 5.5 6

(in kg) [›Ê√Ú - øfl¡. ¢∂±.]
No. of children 2 3 4 2 5 1 4 3 1

[Â√±S1 ¸—‡…±]
Find the mean and median.

¤˝◊√√ Ó¬Ô…ø‡øÚ1 ¬Û1± ˜±Ò… ’±1n∏ ˜±øÒ…fl¡œ øÚÌ«˚˛ fl¡1fl¡º
(c) A bag contains 4 red, 6 blue and 8 green balls (i) two balls are drawn at random. Find

the probability that the balls drawn are blue.

¤È¬± Œ¬ı·Ó¬ 4 È¬± 1„√√±, 6 È¬± Úœ˘± ’±1n∏ 8 È¬± Œ¸Î¬◊Ê√œ˚˛± ¬ı˘ ’±ÀÂ√º
˝◊√√˚˛±1 ¬Û1± ŒÚ±À‰¬±ª±Õfl¡ 2 È¬± ¬ı˘ Î¬◊ø˘˚˛±À˘ Úœ˘± ¬ı˘ Œ¬Û±ª±1 ¸y±øªÓ¬± øfl¡˜±Ú∑
(ii) If 6 balls are drawn at random, find the probability that 4 balls are blue and 2 are

red.

˝◊√√˚˛±1 ¬Û1± ŒÚ±À‰¬±ª±Õfl¡ 6 È¬± ¬ı˘ Î¬◊ø˘˚˛±À˘ 4 È¬± Úœ˘± ’±1n∏ 2 È¬± 1„√√± ¬ı˘ Œ¬Û±ª±1 ¸y±øªÓ¬± øfl¡˜±Ú∑



5. Answer any two from the following questions 10×2 = 20

Ó¬˘1 õ∂ùü¸˜”˝√√1 ø˚Àfl¡±ÀÚ± ≈√È¬±1 Î¬◊M√√1 ø˘‡fl¡
(a) A family with a monthly income of Rs. 20,000 had planned the expenditure per month

under various heads as given in the following table

20,000 È¬fl¡± ˜±ø˝√√ø˘ ’±˚˛1 ¬Ûø1˚˛±˘ ¤È¬±1 ø¬ıøˆ¬iß ø˙Ó¬±ÚÓ¬ ˜±ø˝√√ø˘ ‡1‰¬1 ‡øÓ¬˚˛±Ú Ó¬˘1 Ó¬±ø˘fl¡±Ó¬ ø√˚˛±
’±ÀÂ√
Heads [ø˙Ó¬±Ú] Expenditure (in thousand rupees) ‡1‰¬ ñ [˝√√±Ê√±1 È¬fl¡±Ó¬]
Grocery [‡±√… ¸±˜¢∂œ] 4

Rent [ˆ¬±Î¬ˇ±] 4

Education of children [˘í1±-ŒÂ√±ª±˘œ1 ¬ÛÏ¬ˇ± ‡1‰¬] 5

Medicine [fi ∏̄Ò] 3

Fuel [˝◊√√gÚ] 2

Entertainment [˜ÀÚ±1?Ú] 1

Miscellaneous [’Ú…±Ú…] 1

Draw a bar graph of the data. Also draw a pi-diagram.

Ó¬Ô…ø‡øÚ1 ô¶yÀ˘‡ ’±“øfl¡¬ı ˘±À·º
›¬Û11 Ó¬Ô…ø‡øÚ1 ¬Û1± ¤È¬± ¬Û±˝◊√√ ø‰¬SÓ¬ ’—fl¡Ú fl¡1fl¡º
(b) Calculate the mean, median and mode of the data presented as follows -

Ó¬˘1 Ó¬Ô…ø‡øÚ1 ¬Û1± ˜±Ò…, ˜±øÒ…fl¡œ ’±1n∏ ¬ıU˘fl¡ øÚÌ«˚˛ fl¡1fl¡ -
Class interval frequency (No. of students)

Œ|Ìœ ’ôL1±˘ ¬ı±1—¬ı±1Ó¬± [Â√±S-Â√±Sœ1 ¸—‡…±]
15.5 - 20.5 9

20.5 - 25.5 8

25.5 - 30.5 6

30.5 - 35.5 7

35.5 - 40.5 4

40.5 - 45.5 3

45.5 - 50.5 2

50.5 - 55.5 1

(c) Find the capacity of a conical vessel with r = 7 cm and l = 25 cm. Also find the cost of

tin- plating the inner part of a cylindrical vessel open at he top and has a base diametre

21 cm and height 14 cm at the rate of Rs. 5 per cm2.

˙—fl≈¡ ’±fl‘¡øÓ¬1 ¤È¬± ¬Û±S1 l = 25 ’±1n∏ r = 7 cm ˝√√íÀ˘ ˝◊√√˚˛±1 ’±˚˛Ó¬Ú øfl¡˜±Ú∑
›¬Û11 ø¬ÛÀÚ Œ‡±˘± Œ¬ı˘≈Ú ’±fl‘¡øÓ¬1 ¬Û±S ¤È¬±1 ̂ ¬”ø˜1 ¬ı…±¸ 21 cm ’±1n∏ Î¬◊2‰¬Ó¬± 14 cm. õ∂øÓ¬ ¬ı·« ŒÂ√. ø˜.
Œõ≠øÈ¬— fl¡ø1¬ıÕ˘ 5 È¬fl¡± ‡1Â√ ˝√√˚˛ ŒÓ¬ÀôL ¬Û±SÀÈ¬±1 øˆ¬Ó¬1ø‡øÚ Œõ≠øÈ¬— fl¡À1±ÀÓ¬ ‡1Â√ øfl¡˜±Ú ˝√√í¬ı∑

................


